
5281 5281.5 5282 5282.5 5283
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

2−

1.5−

1−

0.5−

0

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

5960

5960.5

5961

5961.5

5962

5962.5

5963

5963.5

5964

ru
n

run:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 5962}



5281 5281.5 5282 5282.5 5283
cyclenum

94.5−

94−

93.5−

93−

92.5−

us
l_

1X
usl_1X:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

2.4

us
l_

4a
Y

usl_4aY:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

36.6

36.8

37

37.2

37.4

37.6

37.8

38

38.2

38.4

38.6

38.8

us
l_

4e
X

usl_4eX:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

20.5

21

21.5

22

22.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

41.5−

41−

40.5−

40−

39.5−

us
l_

12
X

usl_12X:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

5960

5960.5

5961

5961.5

5962

5962.5

5963

5963.5

5964

ru
n

run:cyclenum {run == 5962}



5281 5281.5 5282 5282.5 5283
cyclenum

141−

140.5−

140−

139.5−

139−us
r_

1X

usr_1X:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

1.6

1.8

2

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

203.5

204

204.5

205

205.5

us
r_

4e
X

usr_4eX:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

14.5

15

15.5

16

16.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

42−

41.5−

41−

40.5−

40−

us
r_

12
X

usr_12X:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

5960

5960.5

5961

5961.5

5962

5962.5

5963

5963.5

5964

ru
n

run:cyclenum {run == 5962}



5281 5281.5 5282 5282.5 5283
cyclenum

22952

22952.2

22952.4

22952.6

22952.8

22953

22953.2

22953.4

22953.6

22953.8

22954

22954.2

us
l_

co
il1

usl_coil1:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

3501.6

3501.8

3502

3502.2

3502.4

3502.6

3502.8

3503

3503.2

3503.4

3503.6

3503.8

us
l_

co
il3

usl_coil3:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

4393.2

4393.4

4393.6

4393.8

4394

4394.2

4394.4

4394.6

4394.8

4395

4395.2

4395.4

us
l_

co
il4

usl_coil4:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

1269.5−

1269−

1268.5−

1268−

1267.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

2015

2015.2

2015.4

2015.6

2015.8

2016

2016.2

2016.4

2016.6

2016.8

2017

2017.2

us
l_

co
il7

usl_coil7:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

5960

5960.5

5961

5961.5

5962

5962.5

5963

5963.5

5964

ru
n

run:cyclenum {run == 5962}



5281 5281.5 5282 5282.5 5283
cyclenum

19755−

19754.5−

19754−

19753.5−

19753−

us
r_

co
il1

usr_coil1:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

2760.8−

2760.6−

2760.4−

2760.2−

2760−

2759.8−

2759.6−

2759.4−

2759.2−

2759−

2758.8−

2758.6−

us
r_

co
il3

usr_coil3:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

4289.5

4290

4290.5

4291

4291.5

us
r_

co
il4

usr_coil4:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

859−

858.5−

858−

857.5−

857−

us
r_

co
il6

usr_coil6:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

35954

35954.2

35954.4

35954.6

35954.8

35955

35955.2

35955.4

35955.6

35955.8

35956

35956.2

us
r_

co
il7

usr_coil7:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

5960

5960.5

5961

5961.5

5962

5962.5

5963

5963.5

5964

ru
n

run:cyclenum {run == 5962}



5281 5281.5 5282 5282.5 5283
cyclenum

279.8−

279.6−

279.4−

279.2−

279−

278.8−

278.6−

278.4−

278.2−

278−

277.8−

277.6−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

19.8−

19.6−

19.4−

19.2−

19−

18.8−

18.6−

18.4−

18.2−

18−

17.8−

17.6−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

300.5

301

301.5

302

302.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

335.5−

335−

334.5−

334−

333.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

44−

43.5−

43−

42.5−

42−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

285

285.2

285.4

285.6

285.8

286

286.2

286.4

286.6

286.8

287

287.2

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 5962}



5281 5281.5 5282 5282.5 5283
cyclenum

176

176.5

177

177.5

178

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

35

35.5

36

36.5

37

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

13.5−

13−

12.5−

12−

11.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

181

181.5

182

182.5

183

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

28−

27.5−

27−

26.5−

26−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

10.8−

10.6−

10.4−

10.2−

10−

9.8−

9.6−

9.4−

9.2−

9−

8.8−

8.6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 5962}



5281 5281.5 5282 5282.5 5283
cyclenum

235−

234.5−

234−

233.5−

233−12
X

_c
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l1

12X_coil1:cyclenum {run == 5962}

5281 5281.5 5282 5282.5 5283
cyclenum

82−

81.5−

81−

80.5−

80−12
X

_c
oi

l3

12X_coil3:cyclenum {run == 5962}
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cyclenum

3.4−

3.2−

3−

2.8−

2.6−

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 5962}
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cyclenum

7.2

7.4

7.6

7.8

8

8.2

8.4

8.6

8.8

9

9.2

9.4

12
X

_c
oi
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12X_coil6:cyclenum {run == 5962}
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cyclenum

485−

484.5−
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483.5−
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12
X

_c
oi

l7

12X_coil7:cyclenum {run == 5962}
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cyclenum

5960

5960.5
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5961.5
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5963

5963.5

5964

ru
n

run:cyclenum {run == 5962}
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